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AIDENINAANS
E _ F—32 Input temperature in Fahrenheit: 98
5 9 98.00 Fahrenheit = 36.67 Celsius
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AIDENIUAANS
Input temperature in Celsius: 37
37.00 Celsius = 98.60 Fahrenheit
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- i : : Input weight in kg: 48.7
BMI = (Weight in Kilograms) Input helght in om: 180

(Height in Metersy) Weight = 48.70 kg., Height = 150.00, BMI = 21.64
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10 o First Equation

Input m1: 3

0.8 Input b1: 4

Second Equation

Input m2: 2

L =13 =12 =11 =18 -08 -08 Input b2: 3

The point of intersectionis at x = -1.00 and y = 1.00

Tanddadl 5. Wideulusunauniu python iileutasminenan Mnuheidsriund (millisecond) Wogluguuuy
999 $1u u Flus Ui Uit wasidedundt feoga

. 186,400,500 2 ¥ 3 F3lua 46 W7 40 3undl 500 HeIIwnTi

. 85,000,200: 0 $u 23 F3luiq 36 Wi 40 3undl 200 He I

.+ 3,504,500: 0 $u 0 $ls 58 undt 24 it 500 eI

« 48,500: 0 %1 0 2la1s 0 W7t 48 Furit 500 WHB I Ima‘lﬁ%’umﬁagalﬁm%mﬁmﬂ Keyboard wagliinans
Run &al)

AIDEVIHRANS 1

Input number of milliseconds: 186400500

Results = 2 day(s), 3 hour(s), 46 minute(s), 40 second(s), and 500 millisec(s)
AIDENINAANS 2

Input number of milliseconds: 85000200

Results = 0 day(s), 23 hour(s), 36 minute(s), 40 second(s), and 200 millisec(s)

AAIINYINTABUNIADS AULINYIFERS UINeFeTesluy Wi - 2 -



